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Algebra EOC Practice Test #1

Multiple Choice
Identify the choice that best completes the statement or answers the question.

____ 1. 
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____ 7. What is the equation of the line shown in the graph?

a. y = 3x + 3
2

c. y = 3x # 5

b. y = #3x # 5 d. y = 2x # 5

____ 8. Solve m # 8 ! 14.
a. m ! 6 c. m ! 22
b. m " 6 d. m " 22
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____ 9. Graph the line with the slope 1
2  and y-intercept 3.

a. c.

b. d.

____ 10. Which of the following relations is a function? 

a. {(-2, -2),(-2, -1),(-2, 0),(-2, 
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____ 12. Simplify the expression 48
147

.

a. 4
7

c. 16
49

b. 4
7

3 d. 48
147

c.
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____ 15. 30 people were asked if they wore a blue shirt or a red shirt this week. The Venn diagram shows the 
results of the survey.

What is the missing value in the Venn diagram?

a.
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____ 18. Given f(x
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____ 22. Let A = {a, b, d, f, g} and B be a sets in the universe U = {letters of the alphabet}. If A $ B = {b, d}, 
which could be set B?

a. B = {b, d, g} c. B = {b, d, 5, e}
b. B = {b, d, k} d. B = {a, f, g}

____ 23. Leah scored p points in the first half of the basketball game. In the second half, she scored 3 more 

than 1
2

 the number of points she scored in the first half of the game.  Altogether, she scored 21 
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____ 28. The height of a ball in feet is modeled by y = #16x2
+ 72x,  where x is the time in seconds after the 

ball is hit. How long is the ball in the air?

a. 2.25 s c. 9 s
b. 4.5 s d. 81 s

____ 29. The diagram shows a Venn diagram for sets A and B. What is the intersection?

Set A: factors of 9
Set B: factors of 12

a. {1} c. {2, 4, 6, 12}

b. {1, 3} d. {9}

____ 30. Factor p2
# 40.

a. (p # 20)2 c. (p + 20)2

b. (p # 20)(p + 20) d. cannot be factored 
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____ 31. Multiply: (a + b)(a # b)

a. a2
+ 2ab # b2 c. a2

# b2

b. a2
+ b2 d. a2

# 2ab # b2

____ 32. Simplify y10 • y5.

a. y2 c. y15

b. y5 d. y50

____ 33. Solve 7(x # 2) = 7x + 14.
a. no solution c. 2
b. 0 d. all real numbers 

____ 34. Find 
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____ 37. Reserved tickets for the football game cost $20 each and general admission tickets cost $12 each.  
The total ticket sales brought in $900.  The equation below can be used to find out how many of each 
type of ticket were sold, where x is the number of reserved tickets and y

ID: 

y
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____ 38. Give the domain and range of the relation.

a. D:   #2 ! x ! 4;  R: #3 ! y ! 2 c. D:  

!

!

!!
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____ 41. The scatter plot shows the relationship between the weekly total sales ($) and the number of 
different rug designs a rug store has. Based on this relationship, use the line of best fit to predict 
what the total sales will be when the store has 110 different rug designs.

a. $31,000 c. $38,000

b. $0 d. $35,000

____ 42. Factor x2
# 16.

a. (x # 4)2 c. (x + 4)2

b. (x + 4)(x # 4) d. cannot be factored

____ 43. Factor x2
# 6x # 16.

a. (x + 2)(x # 8) c. (x # 4)(x # 2)
b. (x # 8)(x # 2) d. cannot be factored

____ 44. Solve A = 1
2

(b + c)h for c.

a. c = h
2A

# b c. c = 2A
h

# b

b. c = 2Ah # b d. c = 2h(A # b)
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____ 45. The ratio of boys to girls in a class is 2:3. If there are 18 girls in the class, how many boys are there?

a. 6 c. 12
b. 10 d. 27

____ 46. Solve 
2x + 3y = 4

3x # 3y = #9

Ï

Ì

Ó

ÔÔÔÔÔ
ÔÔÔÔÔ

.

a. (2, 0) c. (1, #2)
b. (#1, 2) d. (–5, 2)

____ 47. Use the zero product property to solve the equation x + 3( ) x # 2( ) = 14.

a. The solutions are 5 and –4. c. The solutions are –5 and 4.
b. The solutions are –3 and 2. d. The 

2

47.

c.

47.

4

4

2
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____ 52. Simplify the quotient 15
2

.

a. 15
2

c. 7.5

b. 30
2

d. 2
30

____ 53. Graph #2x + 4y = 4 for the domain D: {–8, –4, 0, 4, 8}.
a. c.

b. d.
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____ 54. Determine whether the pairing is a function.  If it is a function, describe the rule that relates the input 
value to the output value.

input -3 -1 0 1 3
output 0 2 3 4 6

a. The pairing is not a function. c. The pairing is a function.  The rule is 

- 1- 1

t

o

 

bm BT -0.0029 Tc134 53 q 2 93 159 Tm /F2.0 1 Tf (The pairing is not a function.)
Tj ule is 0 0 -1 18 011 02 0 00 -12 15126.26Tm 2131 0 0 -1 18 774
Tm /F2.0 1 Tf (to ) Tj ET Q q 1 00 0 -1 18 01c 12 0 00 -12 15 sc.50c q2131 0 0 -1 18 774
multiplied 774 cm  (______________________ )0.3j E1 02 0 00 -12 15208.17sc 2131 0 0 -1 18 774
by 774 cm  (______________________ )0.3j E1 02 0 00 -12 15223.37 q2131 0 0 -1 18 774
2 774 cm  (______________________ )0.3j Ec 12 0 00 -12 15232.W n 2131 0 0 -1 18 774
then 774 cm  (______________________ )0.3j Ec 12 0 00 -12 152 7746 652131 0 0 -1 18 774
add 774 cm  (______________________ )0The 12 002 0 00 -12 1511 23T1 0 0 -1 18 774
3.Ó774 cm BT m BT 0.03330000 Tc 11 0 0 -11 284 159 Tm /F2.0
 0 2Name: dm BT -0.0029 Tc 12 03 q 22 30 284 159 Tm /F2.0 1 Tf (c.) Tj ET Q Q q 318 582 1The rule is 0
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